
 

 

1.  

2. 

3(a) 

32 – 18 = 14 

There are 14 girls watching the film. 

 

Students may use more than one method for 
particular questions.  

 

 

 

 

 

 

 

 

 

 

 

 

 

Challenge Questions ANSWERS 
 

 

 

 

 

 

 

 

 

 

 

 

 

Bailey 

Freda 

74 

25 

49 

44 - 25 = 49 

Freda has 49 sweets. 

Joe 

Rachel 25 

60 
60 - 35 = 25 

Joe has 25 pence. 

35 

 

25 

 

Adults 

Children 

72 

32 

40 

72 - 40 = 32 

There are 32 more adults. 

18 

32 

14 

Boys Girls 3(b) 



 

 

4.  5(a)
. 

46 + 32 + 17 = 95 There are 95 books in total. 

Students may use more than one method for 
particular questions.  

 

 

 

 

 

 

 

 

 

 

 

 

 

Challenge Questions ANSWERS 
 

 

 

 

 

 

 

 

 

 

 

 

 

TV Show 

Film 

35 

46 

81 

60 + 21 = 81  

81 – 35 = 46 

1st pile  

2nd pile 

46 

15 

32 

32 – 15 = 17 

46 – 17 = 29 

There are 29 more books in the first 
pile than the third pile. 

5(b) 

The film lasts 46 minutes 
longer the TV show. 

 

3rd pile  

 

17 

 

14 

 

46 

95 

17 

1st 3rd 

32 

2nd 


